10

»- ey <
Vo 7~ ;
16
1N 1N 15
1"
| WYY —
< x

18

Ne ApTUKYN HanmeHoBaHue Kon
1 |796-627-001 [Koxyx 1
2 Maiika M5 5
3 |796-627-003 (LUectepHA noBOpPOTHAA 1
4 BTynka 1
5 1796-627-005 ([LLectepHA noBOpOTHasA 1
6 LWaiba 4
7 LWalba 2
8 BTynka 1
9 bont M6x40 1
10 CroiKa 1
11 bont M8x40 2
12 LWaliba 8 2
13 LWaiiba 6 1
14 (796-627-014 ([MnactmHa 1
15 (796-627-015 (BtynKa 1
16 bont M6x40 1
17 |796-627-017 [Tpoc 1
18 |796-627-018 [CoeguHutens 1
19 MpyXunHa 1
20 [796-627-020 |Ban 1
21 BuHT ST4.2%x19 2
22 Wrnot 1
23 LWalba 1
Mogaenb
CHeroybopLmK ST9072ET

Technical department Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 1




24

45b Y 4q Lb \ Lk L5q

Ne ApTUKYN HanmeHoBaHue Kon
24 Bont M8x16 7
27 Maika M8 1
28 KpoHwTenH 1
29 WTyuep 1
30 (796-627-030 |LLHekK npaBbii 1
31 bont M6x20 6
32 LWanba 6 16
33 LWanba 6 17
34 Konbuo ynnotHutenoHoe B20x35x7 3
35 BuvHT M5x12 1
36 [796-627-036 |Kopnyc peayKtopa npaBbliit 1
37 Ban 1
38 Wrnot 4
39 |796-627-039 |lWectepHAa peayKTopa 1
40 BTynka 2
41 (796-627-041 [Kopnyc peayKtopa nesblit 1
42 LWainba 2
43 [796-627-043 (LLHek neBbinn 1
44 1796-627-044 |Kopnyc noAwnnHUKa 2
44a Kopnyc nogwmnHmka 6005 2
44b (796-627-944 |MpoKnaakKa 2
44c |6005-2RS-T  [MogwmnHuk 6005-2RS 2
45 BuHT ST8x16 6
46 LWanba 2
47 190-1290 BonT cpesHom 4
48 LWnoHka 5x7.5x19 1
49 190-0396 NogwwnnHmk 6001-2RS 1
50 Wrnot 6x37 4
51 Ban 1
52 LWaiba 1
53 Konbuo ynaotHutenoHoe B20x35x7 1
Mogaenb
CHeroybopLmK ST9072ET

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




24

Ne ApTUKYN HanmeHoBaHue Kon
54 KpblnbyaTka
55 |BE-51104 MoaWwnnHUK ynopHbid 51104
56 MogwnnHuk 61904-2RS
Mogaenb
CHeroy6opmK
yoopiy ST9072ET

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




Ne ApTUKYN HanmeHoBaHue Kon
57 bont M8x16 5
58 MnactnHa 1
59 Maiika M8 9
60 bont M8x20 7
61 MNonosok 2
62 3arnywka 9
63 [eka 1
64 BuHT ST5.5%13 3
65 JlonaTKa 1
66 KpoHLwwTenH 1
67 bont M8x25 2
70 MpyXKnHa 1
71 Pbluar 1
72 Wrnot 1
73 MpyXKnHa 1
74 bont M8x35 1
75 KpoHLwTenH 1
76 laiika M8 1
77 |796-627-077 |Tpoc ynpasneHus gedbnekropom 1
78 LedneKkrop 1
79 BUHT M5x6 2
80 LWaliba 1
81 [90-0414 NogwwnnHmk 6203-2RS 1
82 Kopnyc nogwmnHumka 1
83 LWanba 4
84 lalika M8 21
85 |796-627-085 |LWKus 1
86 LWanba 8 2
87 [796-627-087 |PemeHb 1
88 Wariba 8 1
89 bont M8x25 1
Mogaenb
CHeroybopLmK ST9072ET
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 4




141

Ne ApTUKYN HanmeHoBaHue Kon
12 LWalba 2
91 LWalba 13
92 Ponuk 1
93 BTynka 1
94 bont M8x35 4
95 bont 1
96 Bont M8x20 2
97 KpoHwTenH 1
98 MpyXunHa 1
99 KpoHLwwTenH 1
100 LWaiba 1
101 [796-627-101 [Tpoc 1
137 KpOHLWTENH LWKKMBa 1
138 MpyXKnHa 1
139 laika M16 1
140 BTynka 2
141 Ban 1
142 Maiika M10 2
143 KoXKyx pemHsa 1
144 [epraTesnb WKMBaA 1
145 16006-2RS NogwwnnHmk 6006-2RS 1
146 LLIKnue Begombii 1
147 1796-627-147 |PemeHb V10X835 1
148 LnoHKa 6x6x45 1
150 LWanba 1
151 LWalba 1
152 LLKnB BeayLwmni 1
153 Ponuk HaTtaxxutens 1
154 BTynka 1
155 bont M8x25 4
156 KpOHLWTENH HaTAXUTENA 1
Mogaenb
CHeroybopLmK ST9072ET

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 5




141

Ne ApTUKYN HanmeHoBaHue Kon
156 KpOHLWTENH HaTaKUTEeNs 1
157 Bont M8x40 1
158 LWaiba 1
159 1796-627-159 |(Asuratenb 1
160 LWaiba 1
161 OrpaHuyuTenb pemHs 1
162 MpyXunHa 1
163 laiika M8 1
164 bont M10x45 1
Mogaenb
CHeroy6opmK
yoopiy ST9072ET
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 6




281
120 121 5 241 242 243
A YN 2Ll 245, o 15 248 105
23 . o o= 7 @D 247 0
0 A p 122 ~\ 7 LN =
LY (/. Q ol 4 1 210
116 4% ‘3‘ 250 X 9 266
17/ 18 119 g - —= M
e
257 251/ 49 Vs 267
252 253 254 255 258 259 260 261 268 269 272 273 274 275
7 S ' 276
© :,-.Kﬂ‘l,'/‘ ‘.i{.’ 26L 265 ._%-» Q ) !
v o] . S i 8
':';(f: \ ~——1-0 L '.'\'.h',{' -
st : ’ : 218

295/ 294 7 293

Ne ApTUKYN HanmeHoBaHue Kon
105 Kopnyc pegykTopa 1
106 BuHT M8%16 12
115 BuHT ST M8x16 4
116 Pblvar 2
117 bont M6x10 8
118 LJNCK GPUKUMOHHbIN 2
1191796-627-119 |KonbLo GpUKUNOHHOE 1
120 Konbuo ctonopHoe 3
121 MoawnnHmk 6203-2RSn 2
122 Crynuua 1
131 Konbuo ctonopHoe 1
241 Kopnyc nogwmnHmka 2
242 BTtynka 1
243 3Be3gouKka Z9 1
244 Wrnot 2
245 Ban 1
246 Wrnot 1
247 Konbuo ctonopHoe 17 2
248 Hanpasnawowas 1
249 MoawwnnHmk 6003-2RS 2
250 LWecTepHa 1
251 Ban 1
252 Malika M12 2
253 Bont M8x20 7
254 BTynka 2
255 Ponuk Begywuii 2
256 Ponuk Begomblit 2
257 Bont M8x25 4
258 BTynka 20x26x20 2
259 KpOoHLWTENH ONOpPHbIN 2
260 BTtynka 1
Mogaenb
CHeroybopLmK ST9072ET

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 7




281
120 121 5

241 242 243
244 245

258 259 260 261

":.,,(l

©

295/ 294

Ne ApTUKYN HanmeHoBaHue Kon
261 3Be3gouKa 1
262 Bont M6x45 6
263 Kpbiwka R 1
264 Wrnot 3
265 Kopnyc 1
266 Maiika M8 8
267 CoeguHutens 1
268 LWaiba 1
269 LecTepHa 2
270 PykoATka 1
271 Pbluar 1
272 bont M8x40 4
273 BTynka 2
274 Konbuo ctonopHoe 1
275 Bunka 1
276 Tpoc 1
277 Pbluar 1
278 Cronop 1
279 MpyXunHa 1
280 BTynka 1
281 BTynka 1
282 KpbiwKa 1
283 LWecTtepHa 6
284 WrnoT 3
285 Ban L 1
286 WtnoT 6x30 1
287 BTynka 15x17x20 2
288 Ban R 1
289 KpoHwTenH Bana L 1
290 KpoHwTenH Bana R 1
291 KpbiwKa pegykropa 1 1
Mogaenb
CHeroybopLmK ST9072ET
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 8




281
120 121 5 241 242 243
Ve N 26k 25 , 15 248 105
0o, - A~ _ D00y 1 Q
"4 A / 122 7 P10 G = W
[ v (/‘ - - o 0 ), . 270
" >/ (J €@ (3‘ 250 XY T 266
17/ 18 19 S - = M
e
257 251/ 49 Vs 267
252 253 254 255 258 259 260 261 268 269 272 273 274 275
Yy, e ' 276
© :,-.Kﬂ‘l,'/‘ ‘.i{.’\ 26L 265 ._%-» Q !
: LR : i 2
,:.‘-(:-;‘ \" ~——1.0 iy P, ':"’.4' 271
W SIS 278
279

295/ 294 7 293

Ne ApTUKYN HanmeHoBaHue Kon
292 KpbiwKa pegykropa 2 1
293 Ban 2
294 Ban 1
295 BMHT HaTAXEHMA pemHA 2
296 laiika M8 2
297 LWaiba 2
298 1796-627-298 |l'yceHunua 2
299 BTynka 4
300 Wanba 12 2

Mogaenb
CHeroybopLmK ST9072ET

Technical department Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 9




173

226
225
224 7]

223
222

176 177 118

316

Ne ApTUKYN HanmeHoBaHue Kon
173 PykoAatka R 1
174 Pbluar 1
175 PykoaTtka L 1
176 Bont M5x16 1
177 MpyXunHa 1
178 bont M10x60 1
180 BuHT ST8x16 4
181 MaHenb (179,181,183) 1
182 Konbuo nnactmkosoe 1
184 BuHT ST4.8x16 6
186 bont M8x16 3
187 BuHT ST4.2x19 5
188 Kopnyc R 1
189 LWainba 10 1
190 KpbiwKa 1
191 KpoHwTenH 1
192 MnactuHa 1
193 bont M8x16 2
194 MpyXunHa 1
195 KpoHLwTenH 1
196 PykoAaTtka L 1
197 Cronop 1
198 Bont M10x60 1
199 Kopnyc 1
200 |796-627-200 |[Tara 1
201 PykoAatka R 1
202 LWarba 1
203 KpoHLWwTenH 1
204 KpoHwTenH 2
205 KpoHwTenH 1
206 WrndT 3x20 2
Mogenb
CHeroybopLmK ST9072ET

Technical department

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 10




Ne ApTUKYN HanmeHoBaHue Kon
207 KpoHwTenH 2
208 Pynb L 1
209 bont M8x45 4
210 Kynayok 1
173 174 175 176 177 1718 179 180 181 182 211 S —— 1
212 bont Mx25 4
213 Pynb HUXKHAA YacTb 1
214 LWaiiba 8 4
217 Ocb 1
218 MNnactnHa R 1
219 BuHT 2
227 220 BTynKka nnactmkoBas 2
l 221 Bont M8x70 2
[ 222 bont M6x40 2
226 \ 223 (796-627-223 |Tpoc 1
995 ‘/\ N 224 Cronop 2
220 g . 225 BuHT ST6.3x16 2
223 226 Pbluar 1
22 227 MpyXunHa 1
228 LWaiiba 10 6
229 Wnanut 4
219 230 Pynb R 1
218 231 Bont M6x16 2
232 Bbikntouartenob 2
233 CoegnHutens 1
228 234 MpyXKnHa 1
235 Polyar 1
217 g 236 PykoATka 2
238 Maiika M5 2
k' Pe 239 Bont M5x12 2
AL e 211/ 210 240 Faiika M6 7
215 214 213 212 Mogenb
iy CHeroy6opmK ST9072ET
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 11




Ne ApTUKYN HanmeHoBaHue Kon
1 [90-0121 lfonoBsKa unanHapa B cbope 1
2 |01-168-002 |WnwunbKa kapblopaTopa 2
3 |01-168-003 |[BTtynka @10x14 2
4 * MpoKnaaKa ronoBku 1
5 [01-168-005 (WnunabKa raywmntens 2
6 |[LR5YC Cseuya 3axkuranua LR5YC 1
7 [01-168-007 [bonT ronoBKu uMAnMHApPaA 4
8 * MpoKnagKa KnanaHHOM KPbILWKK 1
9 |01-168-009 |KpbiwKa KnanaHoB 1
10 |01-168-010 |BoAT KNanaHHOM KPbILLKK 4
11 |90-1082 TpybKa oTBOAa rasos 1
* 190-0230 Habop npoknagok
Mogaenb
CHeroybopLmK ST9072ET
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Pa

ge 12




Ne ApTUKYN HanmeHoBaHue Kon
1 |90-0885 UnnanHgp 1
2 (90-0630 CanbHuK 2
3 |02-168-003 |Waiiba 1
4 102-168-004 |boAnT cAMBHOrO OTBEPCTUA 1
5 [90-0626 Pene patunka macna 1
7 [02-168-007 [AdaTyMK ypoBHA macna 1
9 |02-168-009 [LUecTepHs perynatopa ob6opoToB 1
10 |90-0461 MogwnnHuk 6205 1
11 |02-168-011 |Waiiba 1
12 |02-168-012 [3axKum 1
13 |02-168-013 [Pbiyar perynatopa o6opoToB 1
Mogaenb
CHeroybopLmK ST9072ET
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 13




Ne ApTUKYN HanmeHoBaHue Kon
1 |03-168-001 |MpobKa (wyn) 2
2 |03-168-002 |bonT M8x32 6
3 |03-168-003 [KpbiwkKa KapTepa 1
4 [90-0630 CanbHMK KoJieHBana 1
5 [90-0461 MoawnnHmMK KoneHsana 6205 1
6 |03-168-006 ([BTynka 2
7 * Mpoknaaka KapTepa 1
* 190-0230 Habop npoknaaok
Mogenb
CHeroyb6opwmk
yoopiy ST9072ET
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 14




Ne ApTUKYN HanmeHoBaHue Kon
1 |90-0852 Konbuo nopwHesoe @70x1,5 1
2 [04-168-002 [KonbLo cTonopHoe 2
3 [90-0156 MopleHb @70x49mm 1
4 104-168-004 |Maneu nopwHA 2
6 [90-0180 WatyH 1
7 |04-168-007 ([lUnoHKa maxoBuKa 1
8 KoneHBan 1
Mogenb
CHeroyb6opwmk
yoopiy ST9072ET
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 15




Ne ApTUKYN HanmeHoBaHue Kon

5 * KpoHLWTEeNH Kopombicen 1

6 * LWTaHra Tonkarena 2

7 * Tapenka Tonkatens 2

8 * PoTtatop 1

9 * CTtonop NpyXunHbl BbIMYCKHOrO KnanaHa 1

9a * Cronop npyXuHbl BMIYCKHOrO KnanaHa 1

10 * Mpy*KK1Ha KanaHa 2

11 [90-0246 Konnayok macnocbemHbIi 1

12 [90-0673 KnanaHbl Habop 1

13 |05-168-013 ([PacnpepBan 1

14 |05-168-014 [Kopombicno Habop 2

* 190-0859 PeMKOMNANEKT roNoBKM LMAMHAPA

Mogaenb
CHeroybopLmK ST9072ET
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 16




Ne ApTUKYN HanmeHoBaHue Kon
2 |90-0115 BbikntouaTenb 3aXKUraHmsa 1
4 190-0850 KoXKyx maxoBuKa 1
7 |90-0494 Craptep B cbope 1
16 [90-0252 PyuyKa ctapTepa 1
17 1909-020 LLUHyp cTapTepa 4,5 mm 1
Mogenb
CHeroybopLwumk
yoopti ST9072ET
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 16




Ne ApTUKYN HanmeHoBaHue Kon

1 * Mpoknaaka TenaonsonaTopa 1

2 |08-168-002 ([Tennousonatop 1

3 * MpoknaaKa KapbopaTopa 1

4 * MpoKknaaKa Kopnyca Bo3aywHoro ¢uabTpa 1

5 |[90-0782 KapbtopaTop 1
10 ok Mpy*KWHa pblyara 1

13 ok Pbiyar perynatopa 1
14 ok MpyunHa TArK 1

15 [10-168-015 (Tara peryndatopa 1
16 [90-1084 MNaHenb ynpasneHuA 1

* 190-0230 Habop npoknaaok

** 190-0624 Habop npyxuH

Mogenb
CHeroybopLmK ST9072ET
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 18




Ne ApTUKYN HanmeHoBaHue Kon
1 [90-0727 Kopnyc Bo3aywHoro ¢punbTpa 1
Mogaenb
CHeroy6opmK
yoopti ST9072ET
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 19




Ne ApTUKYN HanmeHoBaHue Kon
1 |15-168-001 [MaxoBuK

2 |90-0265 MarHeTo 1
3 |90-0117 Konnayok ceevyHoi 1
11 [15-168-011 [Kpblab4aTKa maxoBUKa 1
12 [15-168-012 ([XpanoBuK cTapTepa 1
13 [15-168-013 [laiika maxoBuKa 1
14 |04-168-007 ([LUnoHKa maxoBuKa 1

Mogenb

CHeroybopLwumk

yoopiy ST9072ET

Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 20




Ne ApTUKYN HanmeHoBaHue Kon

1 |15-188-001M [Mpobka 6eH3obaKa 1

2 |14-168-002 |®unbTp TONAUBHbIN 1

4 190-0614 Bak TonAnBHbIN 1

5 [15-188-005 (Wtyuep 1

6 |15-188-006 [3axkum 2

7 |90-0737 LWnaHr TonaunsHbIn (6, 7) 1

8 190-0619 rnywurtens 1

9 * MpoKknaaKa raywntens 1
10 [13-168-002 |raitka 1

* 190-0230 Habop npoknaaok

Mogenb
CHeroybopLmK ST9072ET
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 21




Ne ApTUKYN HaumeHoBaHUue Kon
1 Craptep 1
2 Bont M6x35 2
3 Brynka 2
4 Wanba 2
5 BuHT M4%30 2
Mogenb
CHeroybopLwumk
yoopiy ST9072ET
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 22




